Reminders 03-23-10:

-POW 8 Due Thursday
-Exam 3 Ch 7,8, and 9 March 25. No Makeups.

Objectives:

-2D Completely inelastic Collisions Example
-Center of Mass Frame

-Impulse Momentum

~Rockets



xample:

A 3 kg particle traveling south at 2 m/s has a
perfectly inelastic collision with a 2 kg particle
traveling east at 4 m/s. What is the magnitude
and direction of the final momentum?

Only problem solving change:
Conserve momentum along vector components
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A particle of mass 1 kg has velocity 2 i + j m/s and 2
second particle of mass 2 kg has velocity i — 2 j.
What is the velocity of the center of mass?

If the particles collide elastically, what will be the
velocity of the center of mass after the collision?




Particle 1 has mass 4m and speed 2 m/s. It has a
head-on elastic collision with particle 2 of mass m
which is initially at rest. What are the speeds of
the particles after the collision?




Example: Textbook Problem

A 3 kg steel ball strikes a wall with a speed of 10 m/s
at an angle of 60° with the surface. It bounces off
with the same speed and angle. If the ball is in
contact with the wall for 0.2 s, what is the average
force exerted on the ball by the wall?

Vy dwes ot
ChamgR
\/\(. Q/\/\o,yug,Q,Y (llV‘cJ(\a.

ANG = No N, 271D cosh0 ~ (0 condD
ST ;O (_053@

/5}) = MAVyY = ’5('20&5%@

== b0 cos DO

- 0 cos0 -
T)‘Q— B Bw cDSb‘D

-

27
5t

XX/: _&QOI\): woll mm 541,]
L < 20V

Lu‘l\ ~ u.‘],l




Water emerges from a hose at 10 m/s horizontally
and strikes a wall. It then dribbles down. The

flow rate is 1.5 kg/s. What is the average force on
the wall.
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